o There are 9 children on the bus.

5 more children get on the bus.

How many children are on the bus now?

o Eva has 4 coins.
Jack gives her 7 more coins.

How many coins does Eva have now?

12



o Ron and Mo are working out 3 + 11 on a
number line.

Ron's method
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Mo's method
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I | S N SN NN N BN N N
01 2 3 4 5 6 7 8 9 1111213 14 15

What is the same and what is different?

Use a number line to work out the additions.
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a) 2 + 13 b) 4 +9 ) 1+ 17

Reasoning and Problem Solving

Use the diagram and counters to tell your
own number story for these calculations:

0+12=___
Hoo— 85 &e

W+___ =17

First Then Mow




